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PEARARN T B o0—/\—k—Jb 288 210.98
501FHE= 90 181.25
S 502fHE= 40 7°7.50
503fHE= 20 42.75
504HE= 20 42.75
505HE= 30 42.75
506HHE=AB 120 159.04
(506A) 60 84.90
(506B) 48 60.48
BRIRSFE 507HHE= 30 42.75
508#HE=AB 180 231.84
(508A) 84 118.50
(508B) 84 112.00
RERE 40 7°7.50
I —IL—LAB 120 181.25
FEAE S (BEXF—IL—LA) 48 72.50
(EXF—IL—LB) 72 107.25
IF—IL—LC 54 7°7.50
SR AT A4—IV—L 36 67.32
FE= 24 83.35
BEE 30 73.20
PR 3FE T== 32 99.63
AIIF 15 115.00
OAIV—L 20 99.63
PRIRAfE RIEREE 40 187.24
E1HN=E 40 56.25(358)
FE2M=E 40 46.98(308)
E3M=AB 50 73.00(408)
FEAEG (553F=A) 25 36.50(208&)
(553%0=B) 25 36.50(208&)
BIEIRE 36 85.80
T1YRRZAI—L 15 79.50




